2 -

1/15

o g e
\\ -
®
& -~
| E
= _"_ T

I —1
T mEAA J
100 } 100
# oH %
B2y U— b URRR (1 0n%=Y)
U Rl PU-1 450 16.5 &
BELENL 1:3 0.129 m3
X B O# 0.63 m3
£EUE 134 kg
WEAEHE 0.600 m
Y ERE2B4ERE  IRE b AR R
AHME RAKERETH
BIEmA 258 HE HBE
HEQES FFE - ARAEEE

4_50_|_:‘|0 gm & R | soar | Q@S

REHEA SwEr R

U




<D
7
49,353
\___/

.
\,
> o :

Is

[ 7

S6y

FEKERER

49.945

49.790 49.790
N

49,833

49.911

28 g

HEKBES ¢ ¢
BUKRES ¥ ¥
g8 g

B hn BE m s g
88 g

B O M =e £
oA ES s S
” g3 3

HAkBES || °  ° %
g 8 g 8
emmmg |l ° - & 8
g & & g
I = =
WEES : 2
2 g e 3

50. 000
——
45.000
2 Bc 2 e @ B s
g = g & g : 8 g 2
HEKBRES || ¢ 2 ¥ s I ) )
@ o =T 5 S = 2 2 B
; - g ' ¢ 9 ¢ ¥ 4 ¢ *
BRARES b
g g g & g g g g g
EBmmEEl| = § 8 . S # €
g g § 8 g g 8 g g
B OpE OB g = F ® ] ) i
A RES 2 5% g g 4 3
2 3 F =2 3 2 2 3 2
IEE k284 AE L BL A Hh I AR R G R 3
FiEME KBS ELE
Em4 H#EE (IR - 2K - 3TK)
R B HmES
KA £ ABTIRIE WA




No.0+10. 9

GH=49. 353
FH=49. 353
B4R | 0.58n2
= %jﬁ;co g:%
{ sigcomis | 0. 32m2
= | FEIEECO| 0. 20m2
\%\
[ \\
DL=49. 00 & FC0
No.0+0. 5
L 2 FCO (0.07+0.10) x0.5% 10.4=0. 88m3
80 150 il e (0.58+0.85) x0.5x10.4=17. 44m2
(Eem | 0.%4m2 BB (0.03+0.3) x0.5x10.4=1.72m2
| s | 0.16m |
# ECO| 0.07m2 9 16“12

gEcomik | 0. 30m2
fE&C0 | 0. 04m2

FEl & CO BESECOERIE  (0.20x0.5) + (0.30+0.32) x0.5% 10. 4=3. 3m3

fEl & CO (0.04+0.2) x0.5x%x10.4=1. 25m3

DL=49. 00

No.O

GH=49. 546

\ FH=49. 546

i | 0.62m2 TR 284FEREIR B + h AR R (3

2R {04 THE R R KRR E T
EE4 HEE (1 TK)
R HEES

e EHTA LGRS RiE




fial 55 CO

fél 55 CO

290

No. 1

GH=49. 820
FH=49. 833

fel 55 CO

DL=49. 00

No.0+6. 0

GH=49. 932
FH=49. 911

140

No.O

GH=49. 945
FH=49. 945

| gt | 0.30m2
| smE | 0. 14m2
gL | 0.11m2
fElE&C0| 0. 13m2
| pget@ | 0. 35m2
| g | 0. 19m2
L | 0.01m2
F&1&5C0 | 0. 05m2
| getg | 0. 39m2
L 1EE | 0.17m2
fE&C0 | 0. 08m2

(0.08+40.05) x0.5x6.0+ (0.05+0.13) x0.5x14.0
+(0.13+0.03) x0.5x7.6=2. 26m3

fiel &5 CO

No.1+7. 6

GH=49. 790
FH=49. 790

DL=49. 00

| g | 0. 35m2
| tEE | 0. 15m2
Bt | 0.02m2
REECO| 0. 03m2
Tag | TR2SEEREThEREHERE
A XAKBRIETE
2k HITEE QT X)
R E HE&ES
EHHA ERHETHRE RER




5k GO

DL=48. 50

DL=48. 50

i GO

DL=48. 50

o AT

No.1+2. 5
GH=49. 044
FH=49. 069
290
I 1 |
No.O+11. 7
GH=49.117
FH=49. 111
290

No.0

GH=49. 156
FH=49. 156

150

200

750

| g=tg | 0. 30m2
| tBE | 0. 25m2
Bt | 0.11m2
3&CO | 0.29m
| ged@ | 0. 39m2
| #@E | 0.31m2
gt | 0. 04m2
5&C0 | 0.29m
CBeiE | 0. 44m2
| #BE | 0.35m2
Bt | 0.01m2
#£C0| 0. 09m2
3&CO | 0.29m

DL=48. 00

DL=48. 00

DL=48. 50

No.4+6. 0

GH=48. 489
FH=48. 493

150

0. 43m2

B

0.31m2

BEL

0. 04m2

#h L£C0

0. 08m2

700

J N
N,

L GO0

No.3+15. 0

GH=48. 690
FH=48. 636

0. 54m2

| R

0. 43m2

Bt

0.01m2

No.1+7. 1

GH=49. 065
FH=49. 051

0.41m2

| R

0. 44m2

Bt

0. 10m2

THE4A

R 284F IR B 4 h B AR R (R 5

Rt X AKEBSIE TS

X 7 44

HpmE CTX)

R E

HEES

EHB4A

SRETRE AR




& £ CO

& LEC0D 0.09x11.7=1.05m3
& E£C0®@ (0.08+0.09) x0.5x 14.0=1. 19m3

2.24m3
Bp@® (0.75x11.7)+0.2x11.7)=11.115m2

2 (0.7+4+0.75) x0.5x14.0=10. 15m2
(0.1540.2) x0.5x14.0=2. 45m2
23. 715m2

5& GO

0. 58m2

| 8B

0. 38m2

L

0. 05m2

i £Co

0. 09m2

0.29x22.5=6. 5m2

DL=48.00 TE% FERR284ERE IR B+ Hh B AR B R
\ s 1 0o RAEMRAKBRELSE
| 4 BEER (LK)
R E HmES
EHEA LT ETiR BRERER




